Ml b e

e e AT e et
T

t.-h-'u'x -]

Birzeit University
Department of Mathematics
math 243
Second hour exam Fall 2013.

Name : Sl Ve Number:.,, M8

Question #1(35%) Prove or disprove each of the following statements
2)If AxB =g then A=B=g (=)

b A= gnes]
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A b (_f; = {f

b)If R is a relation and R <= R then R is symmetric ;f;)/
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dIf R and S are relations on A then R eS=SoR ( F)
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| e) If R,S are transitive then RoS is transitiy ( .
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©If fis afunction then £ is a function( £ )
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Qu ftlon#2(l 5) Which of the following statements is true and which is false
)/“TIf I, R ThenRisreflexive on A

8). There 18 no onto function from A={1,2,3} onto B={a,b,c,d}
D)o /PZ/I R is reflexive and transitive then R is symmetric. ,

10} (RoS)" =R o5

Question#3(16%) Let A=ZxZ" , Let R be arelation on A defined as follows
(a,b) R (c,d) iff ad=bc

a) Show that R is an equivalence relation . @ Z}/ﬁ}'},/)j{zb\“{ ‘
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. Question #4(16%) Use mathematical induction to prove that

3" = 1+ 2" for everyn e N

oSV //\fﬂé)lﬂﬁ /(;’\ \} Zé’ P /v

Kl ,
.[" & ‘ 3 >/ (44Q

Mow ) LH S




Question #5(18%) :
a)letf:A — B, g:B -» A be functions such that
fog=I, . Provethat fmaps A onto B
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b)Letg: A - B, f:B — Cbe one to one functions .
Show that fog: A — C is one to one
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